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Pidiing it (guill -shntmts - A (guinlyiid ZOGw

2023-2022 cuallotall (guail yid| Ju@itd] - JSutakl) 3o GGt

L ¢9,Sg gl Ol — BB Bu> gl DU 9338 ydugll - 9V Bl

02399 g 1+ Jlgew 2 + g 5 0259 Jlga 1 + Opegial Jlgw 2 + JIgwll

1

il G 2l (g D Sy V) ey el 4GS
— 241
Explain why carbon forms many compounds student taxtbook

Which of the following is not a reason for the ability of Oe Jils dae 00585 e 05080 85080 G el L.,EL; Laa éi
carbon to form so many different organic compounds? FAabA o) A pnall CLE Ll

Each carbon atom can form four covalenl bonds ShY xa daan bl Jadlg <‘.1'JE 0388 o e 50 UK ke

with atoms of carbon or with other elements Al alie ga o gal ppg

Carbon bonding siles allow the formation of a2\, dpalal Ly oSy G9a)Sl bl adlsn maus
single, double and triple bonds AN,
Carbon atom has three electrons in the outer Bl (giea A Dby S ADS e (5080 533 (gRas
energy level @JL:.N

Carbon atoms can form both straight chains, e yiia (gyaly Aaiioa Judlu 053 o Gepsh 3 aslia
branched chains,and rings too

Lol clala g
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5 A2 4 wiidall o8 |l

gl S g gy gl Sy g ) e e 202
Distinguish between the saturated and the unsaturated hydrocarbons student textbook+ fiqure 5
In the following diagrams which of the following aals 8 Sl 8y ol JESYI B L L gl
hydrocarbons are unsaturated?
s 11 W] s i ) Gy
et addng ! s L
bafore sdding before sdeg ¥t ading tatare sdding shar noding
S i e o
sction does nod
\ - PO Soours FeBL N GLEUE
H
IL. i ::-. hjw A Y
i Mylastarton A “ e i o
Bromming Bromene: Pl Bromine Y Ao

Only B kidB ¢y
Only D LD |p
CandD DsC (e
B,CandD DsCsB (g
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Al Pia Rasiteaadl day lh adalll el PG s BRI G5 g Laal Ayl chay T8 oeltld ¢ Akl B8 i
Describe the process wsed to separate petroleom compounds by explaining the physical property used during the process

243-244
student textbook+ fiqures 6 and 7

Fractions of the crude oil are separated in Lelsal Jgan & gasall B33l #) A AT il el Jad a3
a fractionating tower shown in the figure below.

P . : fdasn o 306N Shlad) e 4
Which of the following statements is correct? =

Lt

pram
The hydrocarbons with much lower boiling points SEY) Ll Slaga ) Cliga Sy gl SS
condense on the bottom plates el cilaglll e Lislads) A
The hydrocarbons with high boiling points Aadipall Glaladl Glad @b SiligSg el ST B
condense at the top of the tower Al A e
The hydrocarbons with larger carbon chains 5aSI Oaa)SI Judlis il Sl Sg gl ST C
condense at the bottom of the tower o) BB e
The hydrocarbons with smaller carbon chains So sl GaSl Judbe @il Slis S yagll S

condense on the bottom plates Alandl Silaglll
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< S D g iad Ry e e jalt G AT Al ) e s S el 1 kTl ) Aad Ageall Hp3ad sl + Qled A e

e e e e et T 282.283

Tdentily general lormiali, moleoular formulia, strocducal formola aod fendional group for different Bmilies of organic
conm pounds induding alcohels, ethers, carbanyl compounids containing mitvegen [anines aod amides)

student textbook+ table 1

Regarding the ways of representing the organic 4_.L s gl eolaaf Jgandl A gl G b Bl Bl Ld
compound in the table below, which of the following is ¢
correct?
H
|
H—C—H CH,
H
3 2 1
Method 2 is called the chemical formula and S Aah e 0y A5l Gipall aud 2 Akl
is the simplest way to represent organic gouraall (S5l O A
compound
Method 1 is called the structural formula and L3l Lyl mag g R Apall of 1 dak

B

shows the bonds formed between atoms

Sl
Method 3 is called the space-filling model gives 3<0 5y5m ._.-h-vg A e g isad pand 3 Aasskall
a more realistic picture of the relative size and ougiall 3 Uuiis ol 5 paal Agadly o C
arrangement of the atoms in lhe molecule
Chemists most often use the formula 3 3 Al el alies & Oaibedll adng

edlelil mpngl oD

to write about reactions
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Sypim Ciagigd i g aigh b A Sl 7l A B 2y + Ak i e
Explain the fctors affedt the properties and uses of organic halides student textbook+ table 2+figure 4 285
What substituted hydrocarbon is used in industry delia o330 () g Sy pngll Gulall L
to make non-stick coatings on pans? ?4.',\,‘11 &) e ikl

v

SN

o,

&

ethene Odul O A
Tetrafluoroethene Ol g0l el O B

Ethyl butanoate JiY) Gilgilisy O C

Aniline ks O D
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g Ay Al ol iy R g

e 29

Define an amines while dassifying it into primary, secondary and tertiary amine

student textbook

Which of the following formulas represents
secondary amine ?

¢ sl ol BEA fall i

D C B A
CH
H,N NH, Iil | > I;IHz
O CH;NCH,CH;3; CH;3;NCH; CH;CH,CH,
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IUPAC 2848 Litiies { 4o il o Lailcal) AL ) S50 MN CLIENY ey (=TT AT [ P, 1L LT

Use IUPAC rubes bo name aliphatic allames [straight chain, branded)

student textbook+ example! +applications

249-250-251

j —
What is the name of the following hydrocarbon

according to the (IUPAC) system?

CH,

?('UPAC) allal o ‘,.’m\ 0980 gl aul L

CH; CH5;CH-CH-CH;CH-CH,

CH,

|
CH5 CHZ-CH3

Ola J_._ig.aq.:‘.'ﬁ -4:3 -J-_l.aj)g‘6

4,6,7-trimethyinonane gt Jsa =760 4| |(@
3.4,6-trimethylnonane Qs Jsa A6 4 ¢ 3 (b
2-propyl-4,5-dimethylheptane i L 2 -5 4 ~Jug 2 | [
6-propyl-3,4-dimethylheptane (d
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: MIPAC s ol e K il R p S 42 S 252.253
Draw the struciure of cydoalkanes given its ITPAC name Exmh 2+ Anjliuﬂnns
What 15 the correct structural formula for the N S Al ) il L

following cycloalkane?

(1-ethyl -2,4,5-trimethyl cyclohexane) (A e B 2 =544 2= Y- 1)

D C | B A
CH,CH CH,CH CH CH CH CH
neni ot gnll lngs
]
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Explain physical properties of alkanes

254

student textbook+ table 4

Which of the following 1s a property of alkanes?
A - all the alkanes bonds are polar

B - Soluble 1n water

C - They forms hydrogen bonds among each other

D - Have a low chemical reactivity

LY jalad bl g

el L Ly ) e - A

ol  bglldld . B

o g (s A gy ) S5 - €
Az Al 4 Wl - D

@ o
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18 SAREIT) oy A ST b 1l s R 255 and 258
oompare the properties of alkenes and alkyors with those of alkane student textbook+ table §
> . “ 3 » Bt X L -
Why are alkenes more reactive than alkanes? S e Sleldi Y1 SILKTY daT L

A — Because the second covalentbonddecreases the A g SN Z80KN I8 A dpaalodl Al 0 oY - A

Al Adaal ) (s S S0 O
A5 yiIYI ABUKH a3 5 A0 Apaalal) Ay M Y - B

electron density between the doublebond carbons
B - Because the second covalent bond increases the

electron density between the double bond carbons

4580 adadl T
C - Because they are saturated hydrocarbons - J s S AR O
D — Because the reactants cannot pull the electrons danle g Sy W - C
away from the doublebond s il g J:.gj}n a1y LY Akl o gl jf— D

400 4dayl ) e
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» IUPAC 2218 Lisiiocs SLENY ey Byl + ol it el 258258
What is the name the compound with the following Al A1 AU sl 33 Sl add La

structural formulausing IUPAC rules? SIUPAC £\ 6

A —6—ecthyl-2, 2 dimethyl —3- heptyne | i —3—Jdfne S5-2¢2-08-6 -A

B-2.2,6-trimethyl - 3- octyne OAgi— 3— Jle S 6¢2¢2 -B
C-3,7,7 - trimethyl - 5- octyne Ol —5— Jde - 7¢7¢3 -C

D —2—ethyl - 6 .6 - dimethyl — 4 - heptyne| Odis—4—Jiw AD-6:¢6-J4-2 -D
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IUPAG 51 5 Losios S5 ) a0 o S0 44 Lok NN 108 gad 268-269
Use IUPAL system to name the aromatic compounds student texthook+Example 4+ Applications

Using IUPAC rules, what is the name of the following aromatic TSl a1 S el o LIUPAC Al sel gl Lasdii,
compound?
CH,
A
o —
[/ \
| |
N I"\ # -
‘a;'],;»-" ~CH,
CH,CH;
| 1-ethyl-2 4-dimethylbenzene | iy O g2 il -1 | (a
4-ethyl-1,3-dimethylbenzene o i 301 g (b
| 2-ethyl-1,5-dimethylbenzene ok e AB-5- B2 | (e
1-ethyl-4,6-dimethylbenzene (o5 Sla LG8 S-1 | ((d
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13

o adia g SR Sl IUPAL s iy

SR 4 oAkl G ek

Write the IUPAC name of alkyl halides ami aryl halides student textbook+ Applications

284

What is the name of the following compound according to

the (IUPAC) system?

$(IUPAC) Ul s il (Shall audh e

F Br
| |
CH, CHCH,CHCH, CH,
|
Cl
_ (a
1 - chloro — 2 — Fluoro — 4 — bromo hexane Sl gagy— g~ -2 4]
i a {b
4 — bromo - 1 — chloro — 2 — Fluoro hexane Lk g~ 3 — g3 8=] - seay—4
- (c
6 — chioro - 3 — bromo - § — Fluoro hexane Ot gl =5 = gagp— 3 gpli-6
(d
3 — bromo —6 — chloro — § — Fluoro hexane hfh gyl 5~ g€ 6 —gagp—3
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(o) b g0 1 (g g gt o A g AR gl Ay 5 gt oy (LAl oty 5dpial 47 Sl 4 AR S al

Compare and contrast properiies of ether and alcohol of similar size :nliluan{\'ll!:llii'l[}'.'hu'limgpuinl..mluhilil.y in water) stusdant toxtbook+ ﬂquI‘BT'HHI]H 5

288-285-290

even though their molecular mass are equal?

Why does ethanal CH3-CH-OH have a much higher | A e x5 el e s 50 CH3-CHp-OH Ji) cllia 13,
boiling point than dimethy! ether CH3-0-CH3 $ gt Ay jall Lag € o g 2 M1 e CH3-0-CH3 sl i

) B Jia 8 s pa Al a s 53 35080

Because the oxveen atom is bonded to two methyl groups in the ether

ISV B CoaaSl 3,3 ga B i Ani sa (g o4h 3 gyl (M@
In ethanol, hydrogen atoms are directly bonded to oxygen atom
. . 7. ; . .o e
o) Lpany aa Ak g 0 Byl g 0588 Y J 90N Sl O
Because ethanol molecules cannot form hydrogen bonds with each other
. ) (c
el Lgatany A dabia 5 b Byl 5 0985 AV Sl OY
Because ether molecules can form hydrogen bonds with each other
(d
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i B e Sy gl 8 36 oy e il il S any i iy b S ok g ot el
15 :::::l:fniuriu:]l:::muiwwhﬂewﬂmqlh: equation for some elimisation reactions including dehy drogenation, and e 298-298
What is the expected product of the following ¢ A (e liall a3 gal G
reaction? ’
CH.CH.CH.CH.
J : : | 2 — SIS I iy HZD

OH

A — The compound " 1"

CH,CH=CHCH, * | CH;CH=CH, | !

B - The compound " 2',
C - Thecompound "3, CHJCHECHECHE

D -Thecompound "4" Cl

| J CH,CH,CH=CH,

il11l "-ﬁ'_)‘lll - A

" le _._EJAH _B
"aw *ﬁ‘)‘H I g
" 4|| ?‘s-}qn "D
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Cont gl Al S g sl g Al g i gl 3 il Al 5 i A L ey ke iy ) G oy

12 sl + okl 28 el

18 IDefine addition reaction while writing the equation for some addition reactions induding hydrogenation, hydration,

hivdirahalogenation and halogenation

student textbook+ table 12

300-301

What is the expected product of the following
reaction?

RC G LR I 92, s s ermenen

¢ Al ol a8 plall zIlll La

A — The compound " 1"

R—CH3; —CH; | ® | 2R — CH = CH,

B - The compound "2’

C - The compound "3'"| B CHE - CHg 41 | R—CH = CHZ

D - The compound " 4"

illtl _ﬁﬂ1 - A

" le _._EJAH _B
"N Ih’ﬂ)_uh B
" 4|| ?‘s-}qn "D
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Use IIPAL rules to name alkenes and eycloalkenes

student textbook+ figure12+Applications

¢ (JUPAC) )88 caus dpaniill daaual) ad i) Ayl jedis 4001 40060 dsal) (o

D ©; B A
s s ‘2
CH 1 3 *
S
; \ -, A
CH; s |1° - s CH;

CH;
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- {ap sl 240 B ) SRR 3 SAGATY g AR il i g0 s AT o)+ il 8 et 261
Write possible structural isomers of alkanes, alkenes and alkynes [Up to six carbon aloms) student texthook+ fiqure 17
Three of the structural formulas shown in the oA oL Jgaadl 453 ) gl Al Aall (e 4338
table below are structural isomers to each Sl Y A Al La ¢ il Lpiae 14500 &l ya g 3l
other. Which formula does not represent £ AV SIS pall Wil | e 9541
a structural isomer for the other compounds?
("Hz - CH;
CH; -CH,;-CH -leH-Cl'lg -~ CH; A
CH;
o
CH, ~CHy~ C ~CHy-CH; - CH,
) ~CH;~ C ~CHy-CHy - CHy B
CH,
g
CH, -CH,~CH —(I'H-CH,s-CHg (&
CH;
CH, - CH;
| D
CH; ~CH,;~ CH -CH,-CH; - CH;




Akramelbehiri.com 0505134521 ol ash [a

19

Y Juadl) adiia e AU plaS A ¥ Zigal

St 2 B e g g ) (e S ) oy D ey

195 1B CylS + Qi S yad =

19
ic Bomers

Desceribe the difference between cis- and trans- i in terms of

student textbook+ fiqures 18 and 19

Which of the compounds presented in the table below
have geometric isomers?

A - The compound "1” only

B- The Compound "2” only

C - Bothcompounds " 1 "and" 3" only

D - Bothcompounds " 2 "and" 3" only

il _ya g it Al olii (J gaadl & B3 1 gl UK pall 5

¢ dasaia
Ll "ol A
Ll "2 " £, d-B

"3y M1kl e S8 C
375 2" o e - D

3

Cl H

|
CH,CH,CH= CH, CH3CH = CHCH; H—(;;—tIE—H

H C
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IUPAC 4815 Litiliews ol 15 o sl ey 534 Oplpipdl +BUEAT + ikl IS el R
WA THEAL rled bo-nuane the alobiot 2o etiier student textbook+ fiqure 8+table 4 and §
Using IUPAC rules, what is the name of the following A S jall sl L IUPAC dsans 251 68 Laddnss
compound?
P00
H-C-C-C-H
OH OH OH

'1,2,3-propanetriol Juls ligyr3i2l (a
1,1,1-propanetriol tads - (b

+ls Jsli s leled
1,2,3~trioxypropane g oulSsl 230201 (c
. s (d

1.2,3~triglycerol Jag el JDE=-3:2:1
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Why ethers are generally more volatile and have much
lower boiling points than alcohols of similar size and
mass?

A -Reason" 1" only

B -Reason" 2" only

C-Reasons" 1" and " 2" together

D - Reasons'" 3" and " 4" together

i Lls Sl jo g Hall LG il Y () oS5 13
faaally A jall ALl 3 L) Ay gldl Y gl

BEU el A
h'n'nznﬂd‘ -B
&‘"2"} "l"g..JL.*.“‘!‘ = &

Ga"4"y "3 5d -D

Explanation & S
S A 1S 5 e Al e g A S S i g
Because ethers have hydrogen atoms bonded to the oxygen atom 1
sl lgeany s Ak 5 i g OSSO
Because ether molecules can form hydrogen bonds with each other B
Y A S0 5 e ARl e g S S i
Because ethers have no hydrogen atoms bonded to the oxygen atom 3

ol Lpadany oy g g g vl 35 555 O ey Y Y1 iy e Y
Because ether molecules cannot form hydrogen bonds with each other 4
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s b Dlaa ik Sl b
Which of the following Esters results from a condensation O RS o (e iy AN 2 ¥ (e 5
reaction between 0l ) G g J s - 1
1-Propanol and Ethanoic acid? il SRR |
A- "1" "ny)an"_.B
B. "2" "3"_C
O 'wgn "4".D
D- "4" o P
I 3 ! 1
CH,-C - 0- CH,CH, CH;~C -0 ~CH,CH,CH,
o ac
: 4 I 2
CH,CH,CH,C - 0 - CH,CH, CH,-C -0 - CH,




